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1 Bt A 4 ITHEA 32 35 67 25
2 REH BN 3 ik viN= 36 34 70 24
3 55 Bt 4 M AnEER T 37 34 71 23
3 i &3} 4 RFRIAE 34 37 71 23
5 Wil sbg 1 ik viN= 40 32 72 21
6 =L FE 1 il SN2 37 37 74 20
6 B S 3 b 34 40 74 20
8 EE R 1 ik viN= 40 37 77 18
9 E#E 4 EREAF 39 40 79 17
10 BHF At 4 RIREEEKRTF 37 43 80 16
11 Hlg Kb 1 ik yiN= 43 38 81 15
12 =F 1A 4 AFRIAZE 39 43 82 14
13 I’ KE 4 REEERT 43 41 84 13
14 R BB 2 BRI AR 46 40 86 12
14 suli BE 4 AFRIAZE 44 42 86 12
16 RH & 2 REBEEKRT 49 41 90 10
16 TH Z2 4 BAEFRAZ 47 43 90 10
18 T Bl 2 RHEERT 44 47 91 8
19 ®OED 2 B TN 44 48 92 7
20 RO 3 VAN 52 41 93 6
21 g 2% 2 RHEERT 53 42 95 5
21 Hf @K 4 VA=) e 50 45 95 4
23 EBE A 4 BRI AR 53 44 97 3
23 WE =& 4 AR 46 51 97 2
25 FA = 3 VAN pNC 53 54 107 1
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